
Plan view  S:1/10

HS780

780 (sink length)

50
9 

(s
in

k 
w

id
th

)

80 147 326 80147

11
7

28
5

10
7

105 285 105285

48
3 

(c
ut

 o
ut

 w
id

th
）

758 (cut out length）

4-R15

(counter corner

radius R)

AA

B
B

758
(cut out length)

483
(cut out width)

20

9

Unichrome

Unichrome

Mounting bracket

M4 Flat washer

M4x12 Pan head screw

(SO-21 t2.3)

Waterproof tape

20 ★★★
7

2720

7

Insert nutInsert nut

Spacer
W40xL30xt5.5

Sec A - A   S:1/2 Sec B - B  S:1/2

Waterproof tape
 Faucet hole

position

Φ38

20

9

Unichrome

Unichrome

Mounting bracket

M4 Flat washer

M4x12 Pan head screw

(SO-21 t2.3)

7

272020 ★★★

7

Unichrome

Unichrome

Mounting bracket

M4 Flat washer

M4x12 Pan head screw

(SO-21 t2.3)

Unichrome

Unichrome

Mounting bracket

M4 Flat washer

M4x12 Pan head screw

(SO-21 t2.3)

Spacer
W40xL30xt5.5

Spacer
W40xL30xt5.5

Spacer
W40xL30xt5.5

Double sided tape

XYE-406080-CD

Double sided tape

XYE-406080-CD

Waterproof tape

Insert nut

Double sided tape

XYE-406080-CD
Insert nut

Waterproof tape
Double sided tape

XYE-406080-CD

No. Classification Product name or code

1 Counter
Natural stone/

ceramic/quartz/wood
2 Sink HS780

Package

No. Product name Product code Quantity
1 Sink HS780 1
2 Drain cover HF180x180 1
3 Mounting bracket SO-21 11
4 Pan head screw M4x22 11
5 Flat washer M4 11
6 Insert nut XYE-406080-CD 11
7 Spacer W40xL30xt5.5 11
8 Waterproof tape W5xH5xL1100 3
9 Skimless drainage set - 1

10 Basket - 1

Separately sold items
No. Product name Product code Quantity
1 Bottle rack HS780-BR 1

▲ Notice

1. ★★★ It is applicable with counter thickness of more than 12mm.

Scale
Draw No.

1/2.5
Product Name
Title Over mounting

HS780
1/10

GP-240410


	Sheets and Views
	HS780 オンボードタイプ取付図


